GROSS ANATOMY 2001 EXAM 1
1. What branch of a typical spinal nerve innervates the erector spinae muscles?

A. Dorsal root

B. Ventral root

C. Dorsal ramus

D. Ventral ramus

2. Which of the following would prevent a midsagittal intervertebral disk herniation into the spinal (vertebral) canal?

A. Anterior longitudinal ligament

B. Posterior longitudinal ligament

C. Ligamentum flavum

D. Interspinous ligament

3. Posterolateral herniation of the intervertebral disk between the fifth and sixth cervical vertebrae will compress the...

A. Fourth cervical nerve roots

B. Fifth cervical nerve roots

C. Sixth cervical nerve roots

D. Seventh cervical nerve roots

4. The cauda equina consists of which of the following components?

A. A bundle of dorsal roots of thoracic, lumbar, sacral and coccygeal spinal nerves

B. A bundle of ventral and dorsal rami of lumbar, sacral and coccygeal spinal nerves

C. A bundle of lumbar, sacral and coccygeal spinal nerves and the filum terminale

D. A bundle of ventral and dorsal roots of lumbar, sacral and coccygeal spinal nerves and the filum terminale

5. Paralysis of the right rhomboid muscles led the physician to suspect, which of the following had been injured?

A. Suprascapular nerve

B. Dorsal Scapular nerve

C. Dorsal ramus of C5 spinal nerve

D. Dorsal ramus of T5 spinal nerve
6. The dura mater layer of meninges...

A. Adheres closely to the surface of the brain and spinal cord

B. Forms the filum terminale

C. Forms the denticulate ligaments

D. Lies internal (deep) to the epidural space

7. The adult spinal cord usually terminates opposite the intervertebral disc between which of the following vertebrae?

A. L1 and L2

B. L2 and L3

C. L3 and L4

D. L4 and L5

8. Which of the following would NOT be observed following damage to the spinal accessory 
nerve? 

A. weakness in elevating (shrugging) the shoulder

B. lateral winging of the scapula

C. weakness in adducting the scapula

D. weakness in downward rotation of the scapula

9. Which of the following would NOT be observed following damage to the axillary nerve?

A. weakness in shoulder abduction

B. weakness in external rotation of the shoulder

C. weakness in shoulder adduction

D. weakness in internal rotation of the shoulder

10. A lesion in which of the following nerves would produce medial winging of the scapula?

A. thoracodorsal nerve

B. long thoracic nerve

C. dorsal scapular nerve

D. spinal accessory nerve

11. Which of the following muscles does NOT internally rotate the shoulder (humerus)?

A. teres minor

B. subscapularis

C. teres major

D. latissimus dorsi
12. Which of the following muscles does NOT participate substantially in the complete abduction of the arm to an overhead position?

A. serratus anterior

B. supraspinatus

C. trapezius

D. rhomboids

13. Which of the following statements about the pectoralis major muscle is NOT correct?

A. Receives innervation from medial cord of the brachial plexus.

B. Inserts on the coracoid process.

C. Receives innervation from lateral cord of the brachial plexus.

D. Receives blood supply from thoracoacromial artery.

14. Diminished sensation in the skin overlying the shoulder pad area would be produced by a lesion in the:

A. dorsal root of C4

B. transverse cervical nerve

C. dorsal ramus of C4

D. suprascapular nerve 

15. A superficial wound to the lateral side of the neck and posterior to the sternocleidomastoid muscle might injure which one of the following structures?

A. phrenic nerve

B. axillary nerve

C. spinal accessory nerve

D. long thoracic nerve

16. All of the following statements about injuries to the inferior trunk of the brachial plexus are true EXCEPT:

A. They can be caused by traumatic separation (full abduction) of the upper limb from the lateral side of the trunk.

B. They produce deficits in motor and sensory nerves that contain C8 and T1 fibers.

C. They produce fine motor deficits in intrinsic muscles in the hand.

D. They produce sensory deficits over the palmar surface of the middle digit and lateral palm of the hand.

17. A patient presents with diminished sensation just distal to the rounded contour of the shoulder, difficulty in abducting the arm at the shoulder, and an inability to externally rotate the shoulder. Which of the following is the most complete diagnosis?

A. A preplexus (brachial) lesion involving C7 ventral ramus.

B. A superior trunk or preplexus (brachial) lesion involving C5 and C6 ventral rami.

C. A lesion to spinal cord segments C7 and C8.

D. A lesion to the suprascapular nerve.

18. An injury to the T1 spinal nerve could cause all of the following deficits EXCEPT:

A. weakness in movement of the little finger (digit 5)

B. loss of supination of the forearm

C. sensory loss over the medial side of the forearm

D. weakness in thumb adduction

19. Which of the following statements about the brachial plexus is TRUE?

A. It is formed from dorsal rami of spinal nerves C5 to T1.

B. It contains only nerve fibers from ventral roots.

C. Its terminal nerves are composed of fibers from more than one spinal cord segment.

D. Fibers from each spinal cord segment that contributes to the plexus are distributed to only one terminal nerve.

20. Narrowing of the scalene interval might result in which of the following?

A. compression of the subclavian vein

B. compression of the cords of the brachial plexus

C. reduced arterial blood flow to the upper limb

D. compression of the phrenic nerve

21. The biceps brachii

A. 
Can function as the major supinator of the forearm

B. 
Is innervated by the axillary nerve

C. 
Is innervated by C7 & C8 spinal nerves

D. 
Inserts on the olecranon process of the ulna

22. The ulnar nerve is severed at the level of the elbow. All the following deficits would be present, EXCEPT?

A. 
Inability to abduct the fingers

B. 
Loss of sensation of the skin overlying the thenar eminence

C. 
Inability to adduct the fingers

D. 
Loss of sensation on the palmer surface of the 5th digit
23. Which of the following muscles is capable of generating movement at the shoulder and elbow joints?

A. Brachialis
B. Coracobrachialis

C. Brachioradialis
D. Triceps brachii
24. Extensor muscles of the wrist are innervated by the 

A. 
Musculocutaneous nerve

B. 
Ulnar nerve

C. 
Radial nerve

D. 
Median nerve

25. A fracture of which one of the carpal bones may result in necrosis of the proximal segment?

A. Hamate

B. Lunate

C. Capitate

D. Scaphoid

26. The “anatomical snuff box”

A. Has the ulnar artery in its floor

B. Is bounded by the extensor pollicis longus and extensor pollicis brevis muscles

C. Has the hamate bone in its floor

D. Is bounded by the adductor pollicis and extensor carpi radialis longus muscles 
27. The ______________________________ ligament must be penetrated to enter the subarachnoid space when performing a midsagittal lumbar puncture at the L-3 vertebral level.
28. The internal vertebral venous plexus is found in the _________________________ space.
29. The erector spinae muscles function bilaterally as _________________________ of the vertebral column.
30. The suprscapular nerve supplies innervation to the ____________________________ and ____________________________ muscles.
31. Turning the chin to the left against resistance is a good test for the _____________________________________ nerve.
32. For the breast the major lymphatic drainage pathway is into the ______________________ nodes.

33. The _______________________________________________ artery accompanies the axillary nerve to the deltoid muscle.

34. From the brachial plexus, the two terminal nerves carrying posterior division fibers are the ____________________________ and the _________________________________.

35. The deficits associated with carpal tunnel syndrome are caused by compression of the  _______________________________ nerve.

36. The _________________________________ and _____________________________________ are at risk of injury in a poorly performed venapuncture of the median cubital vein.

37. The pulse of the _____________________________ artery is palpated immediately lateral to the flexor carpi radialis muscle.

